





A following combination of logic gates ?
Y
(A) AND .
(€) Nowr (B) OR
(D} NAND
IS, Awlicmd
mﬁuh-ﬁ.;‘ﬁ’:"hﬂo.su-'um'whnﬂ;mam
Strength 0.2 T i 0 angle of 30° with the horuzontal. A magnetic field of
Wthm:':uﬂinhmm,mcmﬂ'nh
lhemd%“ M““m.mmdmmbm
(A) 1476 A
©) n3a (B) 714A
(D) S9%A
6. A
.x;;““‘“‘m-mmo'w.mmuorumwum
(A) 0725 (B) 004g
(C) 096g (D) 0085
7. Which of the following radiations is deflected by clectne field ?
(A) yoan (B) X-rays
(C) a-particles (D) Neutrons
8. The resistivity of a semiconductor at room temperature s in between
(A) 10010 10*Qcm (B) 107w 10°Qcem
(C) 10%w 107 O cm (D) 10716 10* 0 cm
9.  The forbidden energy gap for "Ge' crystal at "0'K s
(A) 257eV (B) 0071eV
(C) 657eV (D) 0.71eV
i Space For Rough Werk
s IO

v 360°°






a7,

hhnunlﬂuﬁmm;. 10 ma! m.-o_tm’.Mdﬁh

(A) 16~ |°-I:C yolollis s | o"C
08 = 10"

€) 32» v c :;: g » T &

o
(A) Conservation of mass (B) Second law of Thermodynamics
(C) First law of thermodynamics (D)  Conservation of momentiam

A smooth chain of fength 2 » table such that its length of 60 cm hangs freely
Mh*dum&h:::-xmuu The work done in pulling
the entire chain on the table is, (Take g = 10 my’)

(A} 38 (n) 129)

(€) 201 (D) 63)

mwﬁwdnmwuuuudﬁmlmwh"mwh“
seconds. The angular acceleration of the motor wheel is

(A) ox dy’ (B) 2n rady’
(C)  Bxradi (D) 4= rady’

Th‘mdmofnwwymllrwﬁuofhuﬁdhmd

vy

{A) can never be at the same point

(B) are always at the same pomnt for any size of the body.

(C) mammmhmamoﬁmummduw
is negligible as compared to the size (of radius) of the carth,

(1)) are always st the same point only for spherical bodies.

A metallic rod breaks when strain produced is (0.2%. The Young's modulus of the material
of therod is 7 * 10* N'm’ The area of cross section 10 support & load of 10° N is

(A) 7.0 % 10w B) 70 10*m!
© 7110w’ D) 71 =10%m’
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M. Awmum..._‘m.q-.wtu-ﬂaumw
fleld T whemam‘ummdummﬂﬁ !

second
) EF ) ;EE
© B o P
3. The ehecuric fleld and the potential of un ¢hectric dipole vary with Gisance T a3
(&) Jand ) () }-‘.‘!l
© i © Sand}

3. The duplacement of 3 panicle cwcutng SHM s gven by
X‘,Iﬂ{zﬂo-}]m"'umm“'fuhm The smplitude and

mmwothm“
(A) Jm. bz’ 1) "hmal
(C) Im Snms’ (D) JSm dzms’

M. Electrical as well as gravitational affects can be thought 1o be caused by flelds. Which of
the following is true for an electrical or gravitational field *
(A)  Frelds are useful for understanding forces scting through & distance
(B)  The fleld concept is oflen used 10 describe contact forces
(C) There is no way to verify the existence of a force fiekd sence it s just & concept.
(D) Gravitational or Electric field does not exist in the space sround an object.

3S. Four charges +q. *2q, +q and -2q wre placed at the comers of s square ABCD
respectively  The force on 4 unit positive charge kept at the centre 'O° I
(A) along the dagonal AC (B) zero
(C) perpendicular 1o AD (D) along the diagonal BD

36.  An clectnic dipole with dipole moment 4 = 107 C m o aligned at 30° with the direction of 3
uniform electnc fiekd of magnitade § = |0F NC', the magnitude of (he torgue acting on the

dipole »
(A) 10°Nm (B) 10*Nm
(C) 10=10"Nm D VY3 *10*Nm
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't', are comnected i weriey 4,
N‘dumum-s'-ﬂ—rﬂ""” g
Tew

owe cwrcust
:‘:ﬂnxmmmmwhﬂ:"‘
' E (B 10
"“‘: 1!; (D) 3E
path of radius 0.72 A making

o stoen chectrons revolve around the mucheus along &
24« 10" revobutions per second. The ogaivalent currenit i
(A} 14A (B 12A
(i 18A (D) ISA

hm:MﬂMMbkﬁ”dlmm"mmmtq

[grvene = 1.6 ™o

oy wtd
(A) remams unchanged (B)  shifts towards right
(1C) s 10 the Cconder (D) shifis towards Jeft

Two tey spheres carrying charges | 8 uC and 28 wC are Jocated of 40 cm spart. The
porential o the mad-pomnt of the hine pouning the two charges i

(A} 43~ 10V (B) Is-10*'V

() 6= 10'Y (D) 21=10°V

A paraliel plate capaciior u charged by comnecting & 2 V battery across o It » then
doconpecied from the battery and & glass tlab 1y introduced betwoen plates. Whach of the

foliowing paurs of guantities decrease !
(A} Encrgy stored and capacitance. (B)  Oharpe and potentaal difference
(€)1 Capacrtance and charge (D) Poscntal difference and encrgy stored

A charged partiche 1s moving m an electnc fiedd of 3 = 107" V oy with mobility 2.5 = |0
s, s dnfl velocty s

(A) 25 10'my B) 75« 10%ms

(C) 125 10%ms (D) 833« 10%ms

We bound resistors are made by

(A) winding the wires of an slloy of Ge, Aw. Ga

(H)  winding the wires of an alloy of Cu, AL Ag

1) ummnmdnﬂmamcmm
(D) windiung the wires of an alloy of Si, Ty, Fe
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(A) 0800
() 400

Acﬁﬂl’wﬂo‘wmdnh‘r'h‘l'“-‘“.u:.r -
nduction "1 1 & pownt o the anis of the coll ot & distance 3 1 from s cenre fs 'l

Al ?3 m %
P - o L

If voluge scross & bulb rated 220 V, 100 W drops by 2.5% of its rated valoe, the
percentage of the rated value by which the power would decrease s

iA) N (B) 20%

() 1% (D) 15%

A wire of & cortan material s stretched slowly by 10%. lts new resistance and specific
resncance hecomes respoctively

(A) 12 e, same (B) 1) umes, | | times

(C) both resmains the same (D) 12 umes, | | times

Ammu.mds-wi-'mumm&l-d-w
lzi-o.:i-olE:vn'mnmmmwl-ozﬂwﬂ*ﬁtm
spprovimate net force acting on the peoton (s

(A) 22%10YN B) S«10"N

€y W«l0VN (D) 25«10UN

A solenosd of length S0 cm having 100 turms carmes & current of 25 A The magnetic field
a1 one end of the solenowd s

S

(A) 187=10°T B) J14«10*T
(C) 942+«10%7 (D) 628~ 1047
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(A) Earth s surrounded by lonosphere.
(B) mmdmmmMWthm'Hmﬁl

the equator
(&) AWM&M!.MRNM
(D) Mnlﬁmmwﬂnmwah

A“lwmoﬂh!wmm-wdlhup‘dwﬁ.ﬁ
magnetic Nux linked with each tum of the solenoid is 4 * 107 Wh, then self induction of

the sobenoid 1
(A) 2.0 henry (B) 4.0 henry

(€) 1.0 henry (D) 2.5 henry

A fully charged capacitor *C* with initial charge *q,’ s connected to & coll of sl
inductance ‘L° ot t = 0. The time at which the energy is stored equally between the electry
and the magnctic fickd i

(A) =VLC B) 2eIC
|
(© FVIC (D) T

A magnetic field of Nux density 1.0 Wb m ¥ acts normal 1o a 80 tum coil of 0.0)
If this coil is removed from the field in 0.2 second, the emf induced in it is i

e (D) 8V
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(A) hlh (B8 10" Hz
10

<) hll.t (D) 10 Hz

L 8 hamltlmll-mn.l.-o_on.c-2.0..!-:&--ltmml!-:..h

tmpedance of the circust 1y "
A} So0Q (B) 13000
) Q0 (D) %0

0. maummaw \ highest wavelength
(A) TRexy ' () Xﬂy‘““hh )
(C)  Microwsves (D) UVerayy

0. The of
- power ;mhhddoﬂnmanmdlj 1.6, the radh
(A) ~266cm (B) -266cm
) 1NS4em D) +366em
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